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1. Complete the folloiwng statemetns: Two line

[ o Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_njCQ1yeW2ycM

2. Complete the folloiwng statemetns: Among
two congruent angles, one has a measure of

70° the measure of the other angle is

o Watch Video Solution

3. Complete the folloiwng statemetns: When

we write | A=| B we actually mean

o Watch Video Solution



https://dl.doubtnut.com/l/_njCQ1yeW2ycM
https://dl.doubtnut.com/l/_tyqbVtVw3kgf
https://dl.doubtnut.com/l/_ck1j2raDsEMQ
https://dl.doubtnut.com/l/_pcAK54EHBo8V

4. Give any two real-life examples for

congruent shapes.

o Watch Video Solution

5. If ANABC = A FED under the
correspondence ABC <> FED, write all the
corresponding congruent parts of the

triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_pcAK54EHBo8V
https://dl.doubtnut.com/l/_XcDYAEw0I5VK
https://dl.doubtnut.com/l/_X3htHE9HdaX5

6.if AN DEF =~ /A BCA write the parts of

BCA that correspond to: |E + |C

o Watch Video Solution

7.ff A DEF = /A BCA write the parts of

BCA that correspond to : | EF

o Watch Video Solution

8.if AN DEF =~ /A BCA write the parts of

BCA that correspond to : | F’


https://dl.doubtnut.com/l/_X3htHE9HdaX5
https://dl.doubtnut.com/l/_Gtxi1l7qGBSc
https://dl.doubtnut.com/l/_VzHWDrFt59SY

° Watch Video Solution

9. Which congruence criterion do you use in

the following: Given

use in the following? A
(a) Given: AC=DF
AB=DE
BC=EF B C
So, AABC = ADEF E

o Watch Video Solution

10. Which congruence criterion do you use in

the following: Given


https://dl.doubtnut.com/l/_VzHWDrFt59SY
https://dl.doubtnut.com/l/_RlJKf2ZwS6bo
https://dl.doubtnut.com/l/_reDPNRoF1At6

(b) Given: ZX=RP .
RQ=7ZY
ZPRQ=2XZY *
So, APQR = AXYLZL

o Watch Video Solution

11. Which congruence criterion do you use in

the following: Given

(¢) Given:
ZMLN= ZFGH N
ZNML= ZGFH
ML=FG M n

So, ALMN = .ﬁ.GFHF
Sol. Given ALMN = AGFH

h AT RT FSEFATT F i -



https://dl.doubtnut.com/l/_reDPNRoF1At6
https://dl.doubtnut.com/l/_DBP0ScUB0me1

I o Watch Video Solution

12. Which congruence criterion do you use in

the following: Given

(d) Given: EB=DB
AE = BC
ZA=ZC=9r

So, AABE=ACDB * T

o Watch Video Solution

13. You want to show that A ART =

A\ PEN,: If you have to use SSS criterion,


https://dl.doubtnut.com/l/_DBP0ScUB0me1
https://dl.doubtnut.com/l/_AyO4aEjyCVus
https://dl.doubtnut.com/l/_ITrWTPp7xKkc

then you need to show

A

(i) AR=
(i) RT=
R I

(i) AT =

° Watch Video Solution

14.1If it is given that /T = /N and you are to

use SAS criterion, you need to have : RT=

o Watch Video Solution



https://dl.doubtnut.com/l/_ITrWTPp7xKkc
https://dl.doubtnut.com/l/_lu01DRSLXMJt

15. If it is given that £/T' = ZN and you are to

use SAS criterion, you need to have : PN=

° Watch Video Solution

16. If it is given that AT=PN and you are to use

ASA criterion, you need to have: ?

o Watch Video Solution



https://dl.doubtnut.com/l/_GLWRcdISHiPV
https://dl.doubtnut.com/l/_0kF9Fwn9BdC9

17. If it is given that AT=PN and you are to use

ASA criterion, you need to have: ?

° Watch Video Solution

18. You have to show that A AMP narr =
AN AMQ. In the following proof, supply the

missing reasons.

A\

Steps Reasons
(i) PM=0QM (i) w
(i) £PMA=20MA (i) ..
(iii) AM=AM [[11) -

(ivi AAMP = AAMO (iv) ..

I o Watch Video Solution


https://dl.doubtnut.com/l/_z8mYbM67eHsB
https://dl.doubtnut.com/l/_wyRcFBQBZ1uy

9. In A ABC, /A = 30°, /B = 40° and
/C =110°.  In AN PQR, /P = 30°,
/@ = 40° and ZR = 110°. A student says
that A ABC = AN PQR by AAA

congruence. Is he justified? Why or why not?

o Watch Video Solution

20. In the figure, the two triangles are

congruent. The corresponding parts are


https://dl.doubtnut.com/l/_wyRcFBQBZ1uy
https://dl.doubtnut.com/l/_aRTNHravx2v3
https://dl.doubtnut.com/l/_YpZlXMxTMApj

marked. We can write trian > [RAT narr =

o Watch Video Solution

21. Complete the congruence statement:

ABCA = ? AQRS = 7



https://dl.doubtnut.com/l/_YpZlXMxTMApj
https://dl.doubtnut.com/l/_spGNMOapcQDq

| ¥ Watch Video Solution |

22. In a squared sheet, draw two triangles fo
equal areas such that: The triangles are

congruent.

o Watch Video Solution

23. In a squared sheet, draw two triangles fo
equal areas such that: The triangles are

congruent.

o Watch Video Solution



https://dl.doubtnut.com/l/_spGNMOapcQDq
https://dl.doubtnut.com/l/_6omuD0oyygDk
https://dl.doubtnut.com/l/_X9yN82N6T8h3

24. Draw a rough sketch of two traingles such

that they have five paris of congruent parts


https://dl.doubtnut.com/l/_X9yN82N6T8h3
https://dl.doubtnut.com/l/_aziIDNUdoufC

but still the triangles are not congruent.



https://dl.doubtnut.com/l/_aziIDNUdoufC

\ ° Watch Video Solution

25. If A ABC and A PQR are to be
congruent, name one additional pair of
corresponding parts. What criterion did you

use:
; . .
B |
B c pAQ

o Watch Video Solution



https://dl.doubtnut.com/l/_aziIDNUdoufC
https://dl.doubtnut.com/l/_Ko1csxNe7zSn

